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ASSISTANT JAILOR (MEN & WOMEN) (TAMIL NADU JAIL SUBORDINATE SERVICE) 

– 01/07/2023 
 

1. Choose the correct assertion about Drama from the following: 
a. Drama is meant to be enacted    
b. Drama is meant to be read 
c. Drama is meant to be watched 
d. M. Varadharasan classifies drama into three categories Drama meant only to be 

read and Drama meant both to be enacted and to be read. 
e. Answer not known 
ehlfk; gw;wpa nra;jpapy; kpfr; rupahd $w;iwj; Njh;e;njLf;fTk;  
a. ebg;gjw;F kl;LNk cupaJ ehlfk;   
b. gbg;gjw;F kl;LNk cupaJ ehlfk; 
c. ghh;g;gjw;F kl;LNk cupaJ ehlfk; 
d. ghu;g;gjw;F kl;LNk cupaJ ehlfk; 
e. tpil njhpatpy;iy 
 

2. “Inbath Thamizhkalvi yavarum Kattravar Endruraikkum Nilai Eithivittal Thunbangal 
Neengum, Sugam Varum Nenjinil Thooimai Yundaagividum, Veeram Varum” – 
Whose lines are these? 
a. Bharathiyar  b. Bharathidhasan  c. Pattukkottai Kalyan Sundaram 
d. Suradha   e. Answer not known 
“,d;gj; jkpo;f; fy;tp ahtUk; fw;wtu; vd;Wiuf;Fk; epiy va;jptpl;lhy; Jd;gq;fs; 
ePq;Fk;> Rfk; tUk; neQ;rpdpy; J}a;ik Az;lhfpLk;> tPuk; tUk;” vdg; ghbatu; ahh;? 
a. ghujpahu;  b. ghujpjhrd;   c. gl;Lf;Nfhl;il fy;ahz Re;juk; 
d. Rujh  e. tpil njhpatpy;iy 
 

3. Methods of measuring lands such as Are, Nivarthanama and Pattigai were followed 
during which King’s period? 
a. Chola period  b. Cherar period  c. Pandiar period 
d. Pallavan period  e. Answer not known 
epyk; msg;gjw;F Vu;> eptu;j;jdk;> gl;bif vd;w Kiwfs; ahUila fhyj;jpy; 
ifahsg;gl;ld? 
a. Nrhou; fhyk;  b. Nruh; fhyk;  c. ghz;bau; fhyk; 
d. gy;yth; fhyk;  e. tpil njhpatpy;iy 
 

4. “Perarignar Anna Award” for the year 2021 was awarded to  
a. Nanjil Sampath  b. Bharathi Krishna Kumar  c. Dr. M.Rajendran 
d. Suki Sivam  e. Answer not known 
2021-k; Mz;bw;fhf ‘NguwpQu; mz;zh tpUJ’ ahUf;F toq;fg;gl;lJ? 
a. ehQ;rpy; rk;gj;  b. ghujp fpU~;zd; Fkhu;  c. lhf;lh;. K. uhN[e;jpud; 
d. Rfp rptk;   e. tpil njhpatpy;iy 
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5. The main aim of the Hindu Marriages Tamil Nadu Amendment Act of 1967 is 
a. Safeguarding Hindu Marriages   
b. Granting legal sanction to the self respect marriages in Tamil Nadu 
c. It fixed the ages of brides and bridegrooms 
d. It gave special status to Hindu Marriages 
e. Answer not known 
1967Mk; Mz;L nfhz;Ltug;gl;l ,e;J jpUkzr; rl;lj;jpd; (jkpo;ehL rl;lj;jpUj;jk;) 
Kf;fpa Nehf;fk; 
a. ,e;J jpUkzq;fSf;F ghJfhg;g mspg;gJ 
b. jkpofj;jpy; eilngw;w Rakhpahij jpUkzq;fSf;Fr; rl;lG+u;tkhd mq;fpfhuk; 

mspg;gJ 
c. kzkfd; kw;Wk; kzkfs; tajpid eph;zak; nra;tJ 
d. ,e;Jf;fspd; jpUkzq;fSf;Fr; rpwg;G mq;fPfhuk; toq;FtJ 
e. tpil njhpatpy;iy 
 

6. ______ session of 1944 changed the name of Justice Party into Dravidar Kazhagam. 
a. Trichy   b. Salem   c. Virudhunagar 
d. Erode   e. Answer not known 
1944k; Mz;L __________ y; eilg;ngw;w khehl;by; ePjpf;fl;rp vd;w ngau; jpuhtplf; 
fofk; vd;W khw;wg;gl;lJ 
a. jpUr;rp   b. Nryk;   c. tpUJefu; 
d. <NuhL   e. tpil njhpatpy;iy   
 

7. Who among the following earned the title of the ‘ Hero of Vaikkom’? 
a. T.M. Nair   b. A. Subbarayan  c. E.V. Ramasamy 
d. C. Rajagopalachari e. Answer not known 
gpd;tUgtu;fspy; ‘itf;fk; tPuh;’ vd;w gl;lj;ij ngw;wtu; ahh;? 
a. T.M. ehah;   b. A. Rg;guhad;  c. E.V. uhkrhkp 
d. C. uh[Nfhghyr;rhup e. tpil njhpatpy;iy 
 

8. The third session of the Indian National Congress was presided over by: 
a. W.C. Bannerjee  b. Badruddin Tyabji  c. M.Vijayaragavachariar 
d. Gokhale   e. Answer not known 
,e;jpa Njrpa fhq;fpu]pd; %d;whtJ khehl;bw;F jiyik jhq;fpatu;  
a. lGs;A+. rp. ghdh;[p b. gj;Ujpd; jpahg;[p  c. vk;. tp[auhfthr;rhupahu; 
d. NfhfNy   e. tpil njhpatpy;iy 
 

9. To whom does Thiruvalluvar compare the Toddy drinkers (Kalunpor)? 
a. Paalunpor ( Milk taking habits)   
b. Thaenunpor ( Honey taking habits) 
c. Nanjunpor ( Poison taking habits)  
d. Amudhunpor (Heavenly Nectar taking habits) 
e. Answer not known 
fs;Sz;ghiuj; jpUts;Stu; vjid cz;ghUf;F epfuhff; $Wfpwhu;? 
a. ghYz;ghh;   b. NjDz;ghh;  c. eQ;Rz;ghh; 
d. mKJz;ghh;  e. tpil njhpatpy;iy 
  

10. “Thelivu Kuruvin Thirumeni Kandal” – 
This line is taken from which poem? 

 a. Thirukkural  b. Thirumanthiram  c. Aasarakkovai 
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 d. Pazhamozhi Nanooru  e. Answer not known 
‘njspT FUtpd; jpUNkdp fhz;ly;’ 
vd;W ciuf;Fk; ghly; vJ? 
a. jpUf;Fws;    b. jpUke;jpuk;   c. Mrhuf;Nfhit 
d. gonkhop ehD}W   e. tpil njhpatpy;iy 

 
11. Manaththukan Maasilan Aadhal Anaiththuaran 

Aakula Neera Pira 
Based on this Kural 
Statement (A) : Thoughts, words and deeds of a person would be pure if the mind and 
      heart is pure 
Reason (R) : Outward appearance becomes insignificant if the mind is pure.  If the    

mind is impure, then the outward appearance is just a show – thus the 
outward appearance is just a show – thus the outward appearance is just a 
show of arrogance. 

a. Statement (A) and Reason (R) are both incorrect. It does not explain the kural 
b. Statement (A) is correct; Reason (R) is incorrect 
c. Statement (A) is incorrect, Reason (R)is correct 
d. Statement (A) and Reason (R) both correct and explains the kural aptly 
e. Answer not known 
kdj;Jf;fz; khrpyd; Mjy; midj;jwd;  
MFy ePu gpw 
,f;Fwspd; mbg;gilapy; 
$w;W (A): kdk; J}a;ikahapUg;gpd; mjd; topg;gl;l Kf;fuz tpidfSk; 

J}a;ikahapUf;Fk; Mjypd;> khrpyh kdNk mwj;jpw;F mbg;gil 
fhuzk; (R): kdk; J}ajhapUg;gpd; ntspf;Nfhyk; Ntz;lhjJ MfptpLk;. Kdk; jPajhf 

,Ug;gpd; ntspf;Nfhyk; gpwiu Vkhw;Wtjhf MfptpLk;. ,UtopfspdhYk; 
gadpd;ik Nehf;fp ntspf;Nfhyj;ij tPz; Muthunkd;whu;. 

a. $w;W (A)> fhuzk; (R) ,uz;Lk; jtW. ,it Fwis tpsf;Ftd my;y 
b. $w;W (A) rup> fhuzk; (R) jtW 
c. $w;W (A) jtW; fhuzk; (R) rup 
d. $w;W (A)> fhuzk; (R) ,uz;Lk; rup. ,it Fwspd; nghUis rupahf tpsf;Ffpd;wd. 
e. tpil njhpatpy;iy 
 

12. Method of narrating old epics and legendary stories through modern poetry is called 
a. Padimam   b. Thonmam   c. Kuriyeedu  
d. None of the above e. Answer not known 
GJf;ftpijfspy; goq;fijiaj; Jizahff; nfhz;L xU fUj;ij tpsf;Ftjw;Fg; 
gad;gLj;jg;gLk; cj;jpKiw 
a. gbkk;   b. njhd;kk;   c. FwpaPL 
d. ,tw;wpy; VJkpy;iy e. tpil njhpatpy;iy 
 

13. Choose the right answer: 
1. ‘Vaiyan dhagaliya Vaarkadale Neyyaga’ – This poem was written by Poigaiyazhvaar 
2. ‘Thirukanden, Ponmeni Kanden’ – This poem was written by Boothathazhvaar 
3. ‘Anbe Dhagaliya Aarvame Neiyyaga’ This poem was written by P: eiyazhvaar 
4. Poigaiyazhvaar, Botthathazhvaar and Peiyazhvaar belong to the same age 
(contemporaries) 
a. (1) and (3) are right, (2) and (4) are wrong 
b. (1) and (4) are right, (2) and (3) are wrong  
c. (1) and (2) are right, (3) and (4) are wrong 
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d. (1) and (2) are wrong (3) and (4) are right 
e. Answer not known 
rupahd tpiliaj; Njh;f: 
1. ngha;ifaho;th; ‘itae; jfspah thh;flNy nea;ahf’ vd;Dk; ghliyg; ghbdhh; 
2. G+jj;jho;thh; ‘jpUf;fz;Nld; nghd;Nkdpf; fz;Nld;’ vd;Dk; ghliyg; ghbdhh; 
3. Ngaho;thh; ‘md;Ng jfspah Mh;tNk nea;ahf’ vd;Dk; ghliy ghbdhh;. 
4. ngha;ifaho;thh;> G+jj;jho;thh;> Ngaho;thh; Mfpa ,k;%tUk; xU fhyj;jth; 
a. 1> 3 rhp> 2> 4 jtW  b. 1> 4 rhp> 2> 3 jtW 
c. 1> 2 rhp> 3> 4 jtW  d. 1> 2 jtW> 3> 4 rhp 
e. tpil njhpatpy;iy 
 

14. Which flower is the symbol of chastity for women in Tamil Society? 
a. Jasmine   b. Rose   c. Mullai 
d. Lily    e. Answer not known 
jkpo;r; r%fj;jpy; kfspu;f;Ff; fw;gpd; FwpaPlhf mikAk; kyh; vJ? 
a. ky;ypif   b. Nuh[h   c. Ky;iy 
d. my;yp   e. tpil njhpatpy;iy   
 

15. Which of the following sangam literature gives exclusive references about the sangam 
cheras? 
a. Paripadal   b. Pathitrupattu  c. Kalithogai 
d. Purananuru  e. Answer not known  
gpd;tUk; rq;f ,yf;fpa E}y;fspy;> rq;f fhyj;J Nruh;fisg; gw;wpf; Fwpg;gpLk; E}y; 
vJ? 
a. ghpghly;   b. gjpw;Wg;gj;J  c. fypj;njhif 
d. GwehD}W   e. tpil njhpatpy;iy 
 

16. Inter – generational equality is ensured by 
a. Industrial progress  b. Economic development 
c. Sustainable development d. Economic growth 
e. Answer not known 
guk;giu hPjpahd rkj;Jtk; ve;j eilKiwapy; cWjp nra;ag;gLfpwJ 
a. njhopw;rhiy   b. nghUshjhu Nkk;ghL 
d. epiyahd Nkk;ghL  d. nghUshjhu tsu;r;rp 
e. tpil njhpatpy;iy 
 

17. I. One of the reasons for the non-brahmin movement in South India was that the 
brahmins took more advantage of modern education and hence secured more 
government jobs. 
II. Therefore there were demands for reservation in government jobs and educational 
institution 
Which of the statements is/are true? 

 a. I only   b. II only   c. I and II 
 d. None of above  e. Answer not known 

I. gpuhkzh;fs; etPd fy;tpapdhy; mjpf ed;ik mile;jdh; mjd;%yk; mjpfkhd muR 
Ntiy ngw;wdu; vd;gJ gpuhkzu; my;yhjhh; ,af;fk; njd;dpe;jpahtpy; cUthf 
mike;jf; fhuzq;fspy; xd;W 
II. Mifapdhy;> muR Ntiyfs; kw;Wk; fy;tp epWtdq;fspy; ,l xJf;fPl;bw;fhd 
Nfhupf;iffs; tUthfpd 
gpd;tUk; $w;Wfspy; rupahdJ vJ/vit? 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II 
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d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 
 
18. Tamil Nadu State Commission for women, a statutory body was constituted to deal 

with the cases related to crime against women 
Which of the following statements is/are true? 

 I. It was adopted in the year 1993 
 II. It consists of a chair person and 8 members 
 a. I only    b. II only   c. Both I and II 
 d. Neither I nor II   e. Answer not known 

ngz;fSf;F vjpuhd Fw;wq;fs; njhlu;ghd tof;Ffis tprhupf;f jkpo;ehL khepy 
kfspu; Mizak; mikf;fg;gl;lJ. 
gpd;tUk; $w;Wfspy; rhpahdJ vJ/vit? 
I. ,J 1993 ,y; Vw;Wf;nfhs;sg;gl;lJ 
II. ,J xU jiytu; kw;Wk; 8 cWg;gpdh;fisf; nfhz;Ls;sJ 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II 
d. I kw;Wk; II ,y;iy  e. tpil njhpatpy;iy 

 
19. I. Government of India proposed a special scheme named ‘Sakhi’ which is a one stop 

cure centre. 
II. Objective is to provide assistance to women affected by violence. 
Which of the above statement is / are true? 

 a. I only   b. II only   c. I and II  
d. None of the above e. Answer not known 
I. ,e;jpa murhy; Kd;nkhopag;gl;Ls;s rpwg;G jpl;lkhd ‘rfp’ vd;gJ xNu ,l neUf;fb 
epthuz ikak; 
II. ,jd; Nehf;fkhdJ td;Kiwahy; ghjpf;fg;gl;l ngz;fSf;F cjtp mspj;jy; MFk;. 
Nkw;fz;ltw;Ws; ve;j $w;W(fs;) rhp? 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II 
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

 
20. Tamil Nadu Backward Classes Commission has been constituted as a permanent body 

under article. 
a. 16(3)   b. 16(4)   c. 16(4) 
d. 16(7)   e. Answer not known 
jkpo;ehL gpw;gLj;jg;gl;Nlhh; Mizak;> murpay; rl;lg;gpupT _________ fPo; epue;ju 
mikg;ghf;fg;gl;lJ. 
a. 16(3)   b. 16(4)   c. 16(4) 
d. 16(7)   e. tpil njhpatpy;iy 
 

21. In Tamil Nadu the knitted garments production is concentrated in  
a. Coimbatore   b. Tiruppur   c. Erode 
d. Karur    e. Answer not known 
jkpo;ehl;by; gpd;dyhil cw;gj;jp mjpfk; cs;s ,lk; 
a. Nfhak;Gj;J}h;   b. jpUg;G+h;   c. <NuhL 
d. f&u;    e. tpil njhpatpy;iy 
 

22. The free supply of sewing machine scheme in Tamilnadu is implemented in the name 
of ______ Ammaiyar. 
a. Sathiyavanimuthu  b. Dharmambal          c. Moovalur Ramamirtham 
d. Muthulakshmi Reddy  e. Answer not known 
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jkpofj;jpy;> ,ytrkhfj; ijay; ,ae;jpuk; toq;Fk; jpl;lk;>__________ mk;ikahh; 
ngaupy; toq;fg;gl;L tUfpwJ.  
a. rj;jpathzpKj;J   b. jh;khk;ghs;   c. %tY}u; uhkhkph;jy; 
d. Kj;Jyl;Rkp nul;b  e. tpil njhpatpy;iy 
 

23. I. The Self Respect Movement functioned as a forum and political platform 
II. Its objective got fulfilled when DMK attained power and formed a government of 
non -brahmin in tamilnadu. 
Which of the above statements is/ are true?  
a. I only    b. II only   c. I and II 
d. None of the above  e. Answer not known 
I. Rakhpahij ,af;fk; xU kd;wkhfTk; murpay; jskhfTk; nray;gl;lJ 
II. ,jd; Nehf;fk; jpKf Ml;rpf;F te;jjhYk;> gpuhkzuy;yhjhh; Ml;rp jkpofj;jpy; 
mike;jjhYk; epiwNtwpaJ 
Nkw;fz;ltw;Ws; ve;j $w;W(fs;) rhp? 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II 
d. Nkw;fz;l vJTk; ,y;iy e. tpil njhpatpy;iy 
 

24. The first SC person from Tamil Nadu to represent Tamils in the Legislative Council in 
1920 was 
a. M.C.Rajah    b. R.Veeraiyan  c. Chinnaswamy 
d. Dr. Subbarayan   e. Answer not known 
1920y; rl;lkd;w Nkyitapy; jkpoh;fis gpujpepjpj;Jtg;gLj;jpa jkpo;ehl;ilr; Nrh;e;j 
gl;bay; rhjpiar; Nru;e;j Kjy; gpujpepjp 
a. vk;.rp. uh[h   b. Mh;. tPiuad;  c. rpd;drhkp 
d. lhf;lh;. Rg;guhad;   e. tpil njhpatpy;iy 
 

25. ________ district in Tamil Nadu has the highest population as per 2011 census. 
a. Erode    b. Coimbatore  c. Chennai  
d. Madurai    e. Answer not known 
2011 Mk; Mz;L kf;fs; njhif fzf;nfLg;gpd;gb> jkpo;ehl;by; __________ 
khtl;lj;jpy; mjpfkhd kf;fs; njhif cs;sJ 
a. <NuhL   b. Nfhak;Gj;J}u;   c. nrd;id 
d. kJiu   e. tpil njhpatpy;iy 
 

26. At what rate percent compound interest will Rs. 625 amount to Rs. 900 in 2 years? 
a. 10%  b. 15%  c. 20 % d. 25%   e. Answer not known 
&. 625 MdJ 2 Mz;Lfspy; & 900 Mf $l;Ltl;bapy; fpilf;fpwJ vdpy; tl;b tPjk; 
fhz; 
a. 10%  b. 15%  c. 20 % d. 25%   e. tpil njhpatpy;iy 
 

27. Find the HCF of 252525 and 363636? 
a. 10110   b. 11010   c. 10101 

d. 10011   e. Answer not known 
252525 kw;Wk; 363636 vd;w vz;fspd; kP.ngh.t. fhz;f 
a. 10110   b. 11010   c. 10101 
d. 10011   e. tpil njhpatpy;iy 
 

28. If the price of Orid dhall after 25% increase is Rs. 1875 per bag. Find the original price of 
orid dhall per bag? 
a. Rs. 1450   b. Rs. 1550   c. Rs. 1500 
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d. Rs. 1600   e. Answer not known 
25% tpiy cau;tpw;Fg; gpd; xU %l;il cSe;jk; gUg;gpd; tpiy &. 1875 vdpy; mjd; 
mry; tpiy vd;d? 
a. Rs. 1450   b. Rs. 1550   c. Rs. 1500 
d. Rs. 1600   e. tpil njhpatpy;iy 
 

29. In a certain code, ‘MEDICINE’ is coded as ‘EOJDJEFM’, then how is ‘COMPUTER’ 
written in the same code? 
a. CNPRVUFQ  b. CMNQTUDR  c. RFUVQNPC 
d. RNVFTUDQ  e. Answer not known 
xU Fwpg;gpl;l FwpaPL nkhopapy; ‘MEDICINE’ vd;w thh;j;ij ‘EOJDJEFM’ vd 
khw;wpf;FwpaPL nra;ag;gl;Ls;sJ vdpy; ‘COMPUTER’ vd;w thh;j;ijf;fhd FwpaPL vJ 
vdf; fhz;f. 
a. CNPRVUFQ  b. CMNQTUDR  c. RFUVQNPC 
d. RNVFTUDQ  e. tpil njhpatpy;iy 
 

30. If ‘@’ mean ‘ ’, ‘c’ means ‘ ’, ‘%’ means ‘+’ and $ means ‘-‘ then 6%12c3@8$3=? 
a. 33  b. 35  c. 37  d. 39  e. Answer not known 
‘@’ vd;gJ ‘ ’, ‘c’ vd;gJ ‘ ’, ‘%’ vd;gJ ‘+’ kw;Wk; $ vd;gJ ‘-‘ vdpy; 6%12c3@8$3=? 
a. 33  b. 35  c. 37  d. 39   e. tpil njhpatpy;iy 
 

31. A and B together can do a piece of work in 8 days, but A alone can do it in 12 days. 
How many days would B alone take to do the same work? 
a. 4 days   b. 20 days   c. 24 days 
d. 8 days   e. Answer not known 
xU Ntiyia A, B ,UtUk; Nru;e;J 8 ehl;fspy; Kbg;gh;> A kl;Lk; mt;Ntiyia 12 
ehl;fspy; Kbg;ghh;. B kl;Lk; mtNtiyia vj;jid ehl;fspy; Kbg;ghh;? 
a. 4 ehl;fs;   b. 20 ehl;fs;   c. 24 ehl;fs; 
d. 8 ehl;fs;   e. tpil njhpatpy;iy 
 

32. A solid sphere of radius x cm is melted and cast into a shape of a solid cone of same 
radius. The height of the cone is _________ 
a. 3x cm b. x cm c. 4x cm  d. 2x cm e. Answer not known 
x nrkP MuKs;s xU jpz;kf; Nfhsk; mNj MuKs;s xU $k;ghf khw;wg;gLfpwJ vdpy; 
$k;gpd; cauk; vd;d? 
a. 3x cm b. x cm c. 4x cm  d. 2x cm  e. tpil njhpatpy;iy 
 

33. Find the principal which amounts to Rs. 169 in 2 years at 4% per annum in compound 
interest 
a. Rs. 150.50   b.  Rs. 154.75   c. Rs. 156.25 
d. Rs. 158   e. Answer not known 
xU mryhdJ Mz;Lf;F 4% $l;L tl;b tPjk; 2 Mz;Lfspy; Rs. 169 Mf khWfpwJ 
vdpy; mjd; kjpg;G ahJ? 
a. Rs. 150.50   b.  Rs. 154.75   c. Rs. 156.25 
d. Rs. 158   e. tpil njhpatpy;iy 
 

34. Find the simple interest for 2 years on Rs. 4, 000 at the rate of interest 5% per annum 
a. Rs. 300   b. Rs. 500   c. Rs. 400 
d. Rs. 200   e. Answer not known 
Rs. 4>000 f;F 5% tl;b tPjk; 2 Mz;LfSf;F fpilf;Fk; jdptl;b fhz;f. 
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a. Rs. 300   b. Rs. 500   c. Rs. 400 
d. Rs. 200   e. tpil njhpatpy;iy 
   

35. Three numbers are in the ratio 4:5:6 and their average is 25. Then the largest number is 
a. 45  b. 40  c. 35  d. 30  e. Answer not known 
%d;W vz;fspd; tpfpjk; 4:5:6 mjDila ruhrup 25 vdpy;> mjpy; kpfg;nghpa vz; 
a. 45  b. 40  c. 35  d. 30  e. tpil njhpatpy;iy 
 

36. Find the smallest square number which is divisible by each of the numbers 6, 9 and 15.  
a. 900  b. 800  c. 400  d. 100  e. Answer not known 
6>9 kw;Wk; 15 My; tFgLk; kpfr;rpwpa th;f;f vz; fhz;f 
a. 900  b. 800  c. 400  d. 100  e. tpil njhpatpy;iy 
 

37. A geometric series consists of even number of terms. The sum of all terms is 3 times of 
the sum of odd terms. Find the common ratio 
a. 3  b. 2  c. 4  d. 5  e. Answer not known 
xU ngUf;Fj;njhlypy; ,ul;il vz;zpf;ifapyhd cWg;Gfs; cs;sd midj;J 
cWg;Gfspd; $LjyhdJ xw;iwg;gil cWg;Gfspd; $Ljiyg; Nghy; 3 klq;F vdpy; 
nghJtpfpjk; vd;d? 
a. 3  b. 2  c. 4  d. 5  e. tpil njhpatpy;iy 
 

38. How many terms of the arithmetic series 24+21+18+15+…, be taken continuously so 
that sum is – 351 
a. 25  b. 24  c. 23  d. 26  e. Answer not known 
24+21+18+15+…, vd;w $l;Lj; njhlupy; njhlu;r;rpahf vj;jid cWg;Gfisf; $l;bdhy; 
$Ljy; -351 fpilf;Fk;? 
a. 25  b. 24  c. 23  d. 26  e. tpil njhpatpy;iy 
  

39. The mean of the date is 12, x, 28 is 18. Find the value of x. 
a.  14  b. 16  c. 18  d. 22  e. Answer not known 
12> x, 28 Mfpa juTfspd; ruhrhp 18 vdpy;> x ,d; kjpg;igf; fhz;f 
a.  14  b. 16  c. 18  d. 22  e. tpil njhpatpy;iy 
 

40. The clock is set at 7 a.m. If the clock slows down two minutes every hour. Find the time 
shown by the clock at 6 p.m.? 
a. 5 hours 38 minutes  b. 6 hours 38 minutes  
c. 5 hours 22 minutes  d. 6 hours 22 minutes 
e. Answer not known 
Kw;gfy; 7 kzpf;F rupahd Neuj;jpy; itf;fg;gl;l xU fbfhukhdJ kzpf;F 2 
epkplq;fs; tPjk; jhkjkhf ,aq;fpdhy; gps;gfy; 6 kzpf;F mf;fbfhuk; fhl;Lk; Neuj;ij 
fhz;f. 
a. 5 kzp 38 epkplq;fs;   b. 6 kzp 38 epkplq;fs; 
c. 5 kzp 22 epkplq;fs;   c. 6 kzp 22 epkplq;fs; 
e. tpil njhpatpy;iy 
 

41. What is 25% of 30% of 400? 
a. 80  b. 30  c. 40  d. 60  e. Answer not known 
400d; 30% kjpg;gpd; 25% vd;d? 
a. 80  b. 30  c. 40  d. 60  e. tpil njhpatpy;iy 
 

42. If 3A = 5B = 6C then find A: B: C  
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a. 10 : 6 : 5   b. 6 : 5 : 10   c. 5 : 6 : 10 
d. 5 : 10 : 6   e. Answer not known 
3A = 5B = 6C vdpy; A : B : C d; kjpg;G fhz;f 
a. 10 : 6 : 5   b. 6 : 5 : 10   c. 5 : 6 : 10 
d. 5 : 10 : 6   e. tpil njhpatpy;iy 
 

43. Find the smallest number by which 10985 should be divided so that the quotient is a 
perfect square? 
a. 55  b. 65  c. 75  d. 13  e. Answer not known 
ve;j kpfr;rpwpa vz;zhy; 10985I tFf;f> <T MdJ xU KO th;f;f vz;zhFk; vdf; 
fhz;f. 
a. 55  b. 65  c. 75  d. 13  e. tpil njhpatpy;iy 
 

44. Calculate the compound interest on Rs. 5,000 for 1 ½ years at 4% per annum, interest 
being compounded half yearly 
a. Rs. 306.02   b. 306.03   c. Rs. 306.04 
d. Rs. 306.05   e. Answer not known 
mry; Rs. 5>000f;F 4% Mz;L tl;b tPjk;> miuahz;Lf;F xUKiw tl;b 
fzf;fplg;gl;lhy; 1 ½  Mz;LfSf;F fpilf;Fk; $l;L tl;b fhz;f 
a. Rs. 306.02   b. 306.03   c. Rs. 306.04 
d. Rs. 306.05   e. tpil njhpatpy;iy 
 

45. In what time Rs. 5,600 amount to Rs. 6, 720 at 6% per annum? 

a. 3 years   b. 
1

3
2

years   c. 
1

3
3

 years 

d. 4 years   e. Answer not known 
Rs. 5>600 MdJ> 6% tl;b tPjj;jpy;> vj;jid Mz;Lfspy; Rs. 6>720 Mf caUk;? 

a. 3 Mz;Lfs;  b. 
1

3
2
Mz;Lfs;   c. 

1
3

3
Mz;Lfs; 

d. 4 Mz;Lfs;  e. tpil njhpatpy;iy 
 

46. The America’s famous Golden Gate bridge is 6480 ft. long with 756 ft tall towers. A 
model of this bridge (in proportion to the original bridge) exhibited in a fair is 60 ft long 
with __________ feet tall tower. 
a. 6  b. 7  c. 8  d. 9  e. Answer not known 
mnkhpf;fhtpd; gpugykhd jq;f EioT thapy; ghyk; 6480 mb ePsKk; 756 mb 
cauKk; nfhz;l NfhGuq;fisf; nfhz;lJ. xU fz;fhl;rpapy; gad;gLj;jg;gl;l mjd; 
khjpupg; ghyj;jpd; (khjpup cz;ik ghyj;jpw;F tpfpj rkkhf cs;sJ) ePsk; 60 mb 
kw;Wk; cauk; _______ mbahFk;.  
a. 6  b. 7  c. 8  d. 9  e. tpil njhpatpy;iy 
 

47. Find the last number that is divisible by the first ten natural numbers 
a. 2530   b. 2520   c. 2510 
d. 2500   e. Answer not known 
Kjy; 10 ,ay; vz;fshy; kPjpapd;wp tFglf;$ba rpwpa vz; vJ? 
a. 2530   b. 2520   c. 2510 
d. 2500   e. tpil njhpatpy;iy  

48. Find the highest common factor of 0 and 6 ________ 
a. 0  b. 3  c. 6  d. undefined  e. Answer not known 
0 kw;Wk; 6 d; kPg;nghU nghJ fhuzp fhz;f 
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a. 0     b. 3    c. 6   
d. tiuaWf;fg;gltpy;iy  e. tpil njhpatpy;iy 
 

49. The population of a village increases by 5% annually. If the present population is 
50,500, what will be its population after 2 years? 
a. 65678   b. 65677   c. 55677 
d. 55676   e. Answer not known 
xU fpuhkj;jpd; kf;fs;njhif xt;nthU tUlKk; 5 mjpfhpf;fpwJ. mjd; jw;Nghija 
kf;fs;njhif 50>500 vdpy;> ,uz;L tUlq;fSf;F gpwF mf;fpuhkj;jpd; kf;fs; njhif 
vd;dthf ,Uf;Fk;? 
a. 65678   b. 65677   c. 55677 
d. 55676   e. tpil njhpatpy;iy 
 

50. Simplify 20 + [8 2 {(6 3) (10 5)}] +  −   

a. 1  b. 5  c. 25  d. 52  e. Answer not known 
RUf;F: 20 + [8 2 {(6 3) (10 5)}] +  −   

a. 1  b. 5  c. 25  d. 52  e. tpil njhpatpy;iy 
 

51. Active learning concept was first developed by 
a. Bonwell    b. Elson   c. Weltman 
d. Jean – Jacques Rousseau e. Answer not known 
“nray;top fw;wy;” fUj;jpid Kjypy; mwpKfg;gLj;jpath; 
a. Nghd;nty;    b. vy;]d;   c. nty;l;Nkd; 
d. [Pd; - N[f;Ft]; nusrpah e. tpil njhpatpy;iy 
 

52. How do you develop “Scientific Temper” among students? 
i. Give extra coaching to the students 
ii. Encourage them to ask questions and allow them to seek out answer on their own 
iii. Motivate to apply the methods of Science in day to day life 
iv. Provide well prepared science study materials to them 
a. i only     b. ii and iii only  c. i,ii and iii only 
d. i,ii, iii and iv only   e. Answer not known 
khztu;fspilNa mwptpay; kdg;ghd;ikia vt;thW tsu;g;gJ? 
i. khztu;fSf;Ff; $Ljy; gapw;rpaspj;jy; 
ii. khztu;fis Nfs;tpfs; Nfl;fTk; mjw;Fg; gjpypid fz;lwpaTk; Cf;Ftpj;jy; 
iii. md;whl tho;tpy; mwptpay; Kiwfisg; gad;gLj;j Cf;Ftpj;jy; 
a. i kl;Lk;    b. ii kw;Wk; iii kl;Lk; c. i, ii kw;Wk; iii kl;Lk; 
d. i> ii> iii kw;Wk; iv kl;Lk; e. tpil njhpatpy;iy 
 

53. The gas which turns lime water milky is  
a. Nitrogen    b. Water vapour  c. Carbon di oxide 

d. Oxygen    e. Answer not known 
Rz;zhk;G ePiug; ghy; Nghy; khw;Wk; thA 
a. iel;u[d;    b. ePuhtp   c. fhh;gd;-il-Mf;i]L 
d. Mf;]p[d;    e. tpil njhpatpy;iy 
 

54. Xylem tissue is composed of  
a. Tracheids, Fibres and Companion Cells 
b. Tracheids, Vessels and Sieve Elements 
c. Tracheids, Parenchyma, Fibres and Companion Cells 
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d. Tracheids, Fibres, Vessels and Parenchyma 
e. Answer not known 
iryk; jpR _________ MdJ. 
a. buf;fPLfs;> ehh;nry;fs; kw;Wk; Jiz nry;fs;     
b. buf;fPLfs;> nt]y;fs; kw;Wk; ry;yil nry;fs; 
c. buf;fPLfs;> ghud;ifkh> ehh;nry;fs; kw;Wk; Jiz nry;fs; 
d. buf;fPLfs;> ehh;nry;fs;> nt]y;fs; kw;Wk; ghud;ifkh     
e. tpil njhpatpy;iy 
 

55. The proportion of world total forest area occupied by the developing countries is 
a. 57.4% b. 54.7% c. 55.7% d. 57.5% e. Answer not known 
tsUk; ehLfshy; Mf;fpukpf;fg;gl;l cyfpd; nkhj;jf; fhLfspd; tpfpjk; 
a. 57.4% b. 54.7% c. 55.7% d. 57.5% e. tpil njhpatpy;iy 
 

56. It is a condition is which the Immune system mistakenly attacks body’s own cells and 
tissues. Normally, body has the tolerance against self-antigen.  However, in some 
occasions the tolerance fails or becomes incomplete against self-antigen.  It leads to the 
activation of T Lymphocytes or production of B Lymphocytes.  This disease is produced 
when body’s normal tolerance decreased and the immune system fails to recognize the 
body’s own tissues as “Self”. 
This passage signifies the following condition: 
a. Autocraft Rejection   b. Auto Immune Disease 
c. Auto Antigen Disorder   d. Acquired Immune Disease 
e. Answer not known 
Neha; jLg;ghw;wy; clypd; nrhe;j nry;fs; kw;Wk; jpRfis jhf;Fk; epiy ,J 
nghJthf cly; Ra Md;bn[Df;F vjpuhd rfpg;Gj; jd;ikiaf; nfhz;Ls;sJ. 
,Ug;gpDk; rpy re;jh;g;gq;fspy;> rfpg;Gj; jd;ik Njhy;tpailfpwJ my;yJ Ra 
Md;bn[Df;F vjpuhf KOikailahJ. ,J b ypk;Nghirl;Lfs; my;yJ gp 
ypk;Nghirl;Lfspd; cw;gj;jpf;F toptFf;fpwJ. clypd; ,ay;ghd rfpg;Gj; jd;ik 
Fiwe;J> Nehnajpu;g;G mikg;G clypd; nrhe;j jpRf;fis “Rakhf” mq;fPfupf;fj; 
jtwpdhy; ,e;j Neha; cUthfpwJ. 
Nkw;fz;litg; gpd;tUk; ve;j epge;jidiaf; Fwpf;fpwJ: 
a. Ml;Nlhfpuh/gl; epuhfupg;G  b. jd;Dly; jhf;F Neha;    
c. Ml;Nlh Md;bn[d; NfhshW  d. thq;fpa Nehnajph;g;G Neha;   
e. tpil njhpatpy;iy 
 

57. Which one of the following is the Natural Nanomaterial?  
a. Peacock feather   b. Peacock beak  c. Grain of sand 
d. Skin of the whale   e. Answer not known 
fPo;f;fz;ltw;Ws; ,aw;ifahd ehNdh nghUs; vJ? 
a. kapypwF    b. kapy; myF  c. kzy; Jfs; 
d. jpkpq;fyj;jpd; Njhy;  e. tpil njhpatpy;iy 
 

58. A bus is running at a speed of 55 miles / hour. Write the speed in m/sec. 
a. 20.5 m/s   b. 24.6 m/s   c. 28.5 m/s 
d. 22.8 m/s   e. Answer not known 
xU NgUe;J kzpf;F 55 fp.kP Ntfj;jpy; nry;fpwJ. mjid kP/tp (m/s) mstpy; 
vOJf 
a. 20.5 m/s   b. 24.6 m/s   c. 28.5 m/s 
d. 22.8 m/s   e. tpil njhpatpy;iy 
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59. “My sorrow and my wavering faith is not for myself alone, but for every woman who is 
struggling for justice in court”. Who said this? 
a. Nirbaya   b. Bilkis Bano  c. Shah Bano 
d. Visaka   e. Answer not known 
“vd;Dila JauKk; kw;Wk; ePjp fpilf;Fk; vd;w epiyaw;w ek;gpf;ifAk; vd;DilaJ 
kl;Lky;y khwhf ePjpkd;wq;fs; %yk; ePjp fpilf;f Ntz;b NghuhLk; vy;yh 
ngz;fSilaJ” vd ahh; $wpaJ? 
a. eph;gah   b. gpy;fp]; ghD   c. ~h ghD 
d. tprhfh   e. tpil njhpatpy;iy 
 

60. Find out the wrong match: 
A. Akali Dal   - Religious base 
B. Communist parties - Economic base 
C. Nazi party   - Racial base 
D. Socialist parties  - Gender base 
a. A and B   b. B only  c. C and D 
d. D only   e. Answer not known 
jtwhd nghUj;jj;ijf; fz;lwpf: 
A. mfhypjs;   - kj mbg;gil 
B. nghJTlik fl;rpfs; - nghUshjhu mbg;gil 
C. eh[p fl;rp   - ,d mbg;gil 
D. rkjh;k fl;rpfs;  - ghy;Ngj mbg;gil 
a. A kw;Wk; B   b. B kl;Lk;   c. C kw;Wk; D 
d. D kl;Lk;    e. tpil njhpatpy;iy 
 

61. Father of Zoology is  
a. Aristotle   b. Carlous Linnaeus   c. Haeckel 
d. Bateson   e. Answer not known 
“tpyq;fpaypd; je;ij” vd miof;fg;gLth; 
a. mhp];lhl;by;  b. fhh;y]; ypd;Nda];  c. n`f;fy; 
d. Ngl;rd;   e. tpil njhpatpy;iy 
 

62. Name the product for which the Agnikul Cosmos has secured first patent for the design 
and manufacturing 
a. Rocket engine            b. 3D–Printed rocket engine  
c. Automated rocket engine d. Satellite               
e. Answer not known 
mf;dpFy; fh];Nkh]; tbtikg;G kw;Wk; cw;gj;jpf;fhd Kjy; fhg;Gupikiag; ngw;w 
jahupg;gpd; ngaiuf; Fwpg;gplTk; 
a. uhf;nfl; vd;[pd;    b. 3D – mr;rplg;gl;l uhf;nfl; vd;[pd;  
c. jhdpaq;fp uhf;nfl; ,ae;jpuk;  d. nraw;iff;Nfhs;     
e. tpil njhpatpy;iy 
 

63. When was Daman and Diu merged with Dadra and Nagar Haveli? 
a. January, 2019   b. December, 2019  c. January, 2020 

d. December, 2020   e. Answer not known 
lhkd; kw;Wk; ilA+> vg;NghJ jhj;uh kw;Wk; ehfu; `NtypAld; ,izf;fg;gl;lJ? 
a. 2019> [dtup   b. 2019> brk;gh;  c. 2020> [dthp 
d. 2020> brk;gh;   e. tpil njhpatpy;iy 
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64. ________ is responsible for providing microfinance to self help groups. 
a. NGO   b. NABARD   c. CC Bank 
d. State Bank of India e. Answer not known 
Ra cjtpf; FOf;fSf;F FWepjp mspg;gJ _______ ,d; Nehf;fk; 
a. vd;.[p.X   b. eghh;l;   c. rprp tq;fp 
d. ghuj ];Nll;  tq;fp e. tpil njhpatpy;iy 
 

65. India adds 11 more wetlands to the list of RAMSAR sites to make a total of ____ Ramsar 
sites covering an area of 13, 26,677 ha in the year 2022. 
a. 75  b. 79  c. 50  d. 56  e. Answer not known 
2022 Mk; Mz;by; ehl;by; 13> 26> 677 n`f;Nlh; gug;gsitf; nfhz;l __________ 
uhk;rhh; jsq;fis cUthf;f ,e;jpah NkYk; 11 <uepyq;fis uhk;rhh; jsq;fspy; 
gl;baypy; Nrh;j;jJ. 
a. 75  b. 79  c. 50  d. 56  e. tpil njhpatpy;iy 
 

66. The headquarters of Central Inland Water transport corporation limited is located in 
a. New Delhi   b. Kolkata   c. Noida   
d. Guwahati   e. Answer not known 
kj;jpa cs;ehl;L ePu; Nghf;Ftuj;Jf; fofj;jpd; jiyikafk; vq;F mike;Js;sJ? 
a. GJ nly;yp  b. nfhy;fj;jh  c. neha;lh 
d. fTfhj;jp   e. tpil njhpatpy;iy 
 

67. Chhota Nagpur plateau is called the heart of industrial India, because it is 
a. Near to major iron and steel centers 
b. A big link of roads and railways 
c. Rich in minerals and power fuels 
d. Very fertile for industrial crops 
e. Answer not known 
Nrhl;lh ehf;G+h; gPlG+kp ,e;jpahtpd; njhopy;Jiw ,jak; vd;W miof;fg;gLfpwJ. 
Vnddpy; mJ 
a. Kf;fpa ,Uk;G> v/F ikaq;fSf;F mUfpy; cs;sJ   

b. rhiyfs; kw;Wk; uapy;Ntapd; nghpa ,izg;G    
c. fdpkq;fs; kw;Wk; Mw;wy; vupnghUs;fs; epiwe;Js;sJ 
d. njhopy;Jiw gaph;fSf;F kpfTk; tskhdJ   
e. tpil njhpatpy;iy 
 

68. Soil with high moisture retention capacity is 
a. Red soil   b. Regur soil   c. Lateritic soil 
d. Bhangar soil  e. Answer not known 
mjpf <ug;gjj;jpidj; jf;f itf;Fk; jpwd; nfhz;l kz; 
a. rptg;G kz;  b. nu$h; kz;   c. Nyl;lhpbf; kz; 
d. ghq;fh; kz;  e. tpil njhpatpy;iy 
 

69. Vattaparai waterfall is located in ______ district. 
a. Kanyakumari   b. Virudhu Nagar  c. Theni 
d. Sivagangai    e. Answer not known 
tl;lg;ghiw ePh;tPo;r;rp mike;Js;s _________ khtl;lk; 
a. fd;dpahFkhp   b. tpUJefh;   c. Njdp 
d. rptfq;if    e. tpil njhpatpy;iy 
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70. What is the length of the India’s land frontier? 
a. 87263 km   b. 54560 km   c. 15200 km 

d. 8000 km   e. Answer not known 
,e;jpahtpd; epy vy;iyapd; ePsk; vt;tsT? 
a. 87263 fp.kP   b. 54560 fp.kP   c. 15200 fp.kP 
d. 8000 fp.kP   e. tpil njhpatpy;iy 
 

71. ________ founded the Nalanda University. 
a. Samudragupta  b. Kumara Gupta I   c. Skanda Gupta 
d. Chandragupta II  e. Answer not known 
ehse;jh gy;fiyf;fofj;ijj; Njhw;Wtpj;jhh; 
a. rKj;jpuFg;jh;  b. Kjyhk; FkhuFg;jh;  c. ];fe;j Fg;jh; 
d. ,uz;lhk; re;jpuFg;jh; e. tpil njhpatpy;iy 
 

72. Reason and Assertion type 
Assertion (A) : The Indo – Gangetic plain comprises almost the whole of North India 
      from Punjab to Bengal.  The richness and fertility of land account for the 
      multiplicity. 
Reason (R)  : It was the seat of Great Empires of India. 
a. (A) is true but (R) is false 
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 

 c. (A) is false, (R) is true 
 d. Both (A) and (R) are true, but (R) is not the correct explanation of (A) 
 e. Answer not known 

$w;W kw;Wk; fhuzk;: 
$w;W (A): rpe;J-fq;if rkntsp gQ;rhg; Kjy; tq;fhsk; tiu fpl;lj;jl;l tl 

,e;jpah KOtJk; cs;slf;fp ,Ue;jJ. ,g;gFjpay; nrOikAk; tsKk; 
mq;F tho;e;j kf;fspd; gd;Kfj; jd;ikf;Ff; fhuzkhapd. 

fhuzk; (R): ,e;j rkntsp ,e;jpahtpYs;s nghpa NguuRfspd; murhl;rp ,lkhf 
,Ue;jJ. 

a. (A) rhp Mdhy; (R) jtW     
b. (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (R) MdJ (A) apd; rhpahd tpsf;fk;   
c. (A) jtW (R) rhp 
d. (A) kw;Wk; (R) ,uz;Lk; rhp. Mdhy; (R) MdJ (A) apd; rhpahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
73. Which one among the following is described as “The cradle of the Indian 

Architecture”? 
a. Aihole    b. Kailasa   c. Virupaksha 
d. Papanatha    e. Answer not known 
,tw;wpy; vJ “,e;jpaf; fl;blf; fiyapd; njhl;by;” – th;zpf;fg;gLfpwJ? 
a. IN`hy;    b. ifyhrh   c. tpUghf;~h 
d. ghg ehjh    e. tpil njhpatpy;iy 
 

74. Who founded the Adilshahi Kingdom of Bijapur? 
a. Mahmud Gawan   b. Mahmud Shah  c. Nizham Shah 
d. Yusuf Adil Shah   e. Answer not known 
gp[g;G+hpy; Mby;rh`p NguuR ahuhy; epWtg;gl;lJ? 
a. Kfk;kJ fthd;   b. Kfk;kJ ~h  c. eprhk; ~h 
d. A+Rg; Mjpy; ~h   e. tpil njhpatpy;iy 
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75. Arrange in chronological order: 

1. Revolt of Prince Khusrau  2. Battle of Chausa   
3. Bubonic Plague in Punjab  4. Battle of Kanwah 
a. 4, 2, 1, 3   b. 1, 2, 3, 4   c. 2, 3, 1, 4   
d. 3, 1, 2, 4    e. Answer not known 
fhy thpirg;gb mLf;fTk;: 
1. ,sturh; F];&tpd; fyfk; 
2. rt;rh Nghh; 
3. gQ;rhgpy; G+ghdpf; gpNsf; 
4. fhd;th Nghh; 
a. 4, 2, 1, 3   b. 1, 2, 3, 4   c. 2, 3, 1, 4   
d. 3, 1, 2, 4    e. tpil njhpatpy;iy 
 

76. A passage of information – Question from it: 
Read the following passage and answer the item that follow. Your answers to this item 
should be based on the passage only.  
Amir Khusrau’s in his advice to his daughter asks her not to leave the thread of the 
spinning wheel and always to keep her face towards the wall of the house and her back 
towards the door so that nobody might be able to look at her. 
Which one of the following is best implied in the passage? 

 a. Poet’s inadequate appreciation of women’s dignity 
 b. Poet as a protector of female chastity 
 c. Looking at women’s face was considered as inauspicious 
 d. Women were treated with great respect 
 e. Answer not known 

xU jfty; gFjp – mjpypUe;J Nfs;tp: 
gpd;tUk; gj;jpiag; gbj;J mjw;fhd Nfs;tpf;Fg; gjpyspf;fTk;. Nfs;tpf;fhd cq;fs; 
gjpy; gj;jpapd; mbg;gilapy; kl;LNk ,Uf;f Ntz;Lk;. 
 
mkPh; F];Nuh jdJ kfsplk;. RoYk; rf;fuj;jpd;. Fioia tpl;L. ntspNaw Ntz;lhk;;> 
vg;NghJk; tPl;bd; Rtiu Nehf;fp Kfj;ijAk;> tPl;bd; thriyAk; Nehf;fp gpd;Gwj;ijAk; 
itj;jpUf;f Ntz;Lk;. ,jdhy; ahUk; mtsJ Kfj;ijg; ghh;f;f KbahJ vd;W 
mwpTiu $wpAs;shh;. 
 
,g;gj;jpapy; rpwg;ghff; Fwpg;gplg;gl;Ls;s xd;W? 
a. ngz;fspd; fz;zpaj;jpw;Ff; ftpQh; Nghjpa msT kjpg;gspf;ftpy;iy   
b. ngz;fspd; fw;Gf;F ftpQh; ghJfhtyuhf ,Uf;fpwhh;    

c. xU ngz;zpd; Kfj;ij ghh;g;gJ kq;fyfukhf fUjg;gltpy;iy 
d. ngz;fs; kpFe;j khpahijAld; elj;jg;gl;ldh; 
e. tpil njhpatpy;iy 

 
77. What is the meaning of “ Loth” in Lothal in Gujarat language? 

a. Mound   b. Black Bangles   c. Dead 

d. Articles   e. Answer not known 
F[uhj; nkhopapy; Nyhj;jy; vd;gjpy; cs;s ‘Nyhj;’ vd;gjd; nghUs; vd;d? 
a. NkL   b. fUg;g tisay;fs;  c. ,we;j 
d. nghUl;fs;   e. tpil njhpatpy;iy 
 

78. Which metal was not used during the Harappan civilization? 
a. Gold   b. Copper    c. Iron 
d. Bronze   e. Answer not known 
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`uhg;gh ehfhPj;jpy; gad;gLj;jg;glhj cNyhfk; vJ? 
a. jq;fk;   b. nrg;G/jhkpuk;   c. ,Uk;G 
d. ntq;fyk;   e. tpil njhpatpy;iy 
 

79. The office of the Directorate of Public Grievances is situated in the  
a. Prime Minister’s Office    
b. Cabinet Secretariat 
c. Ministry of Personnel and Public Grievances 
d. Central Vigilance Commission 
e. Answer not known 
nghJ kf;fs; Fiwj; jPh;g;G ,af;Feufk; mike;Js;s ,lk; 
a. gpujkh; mYtyfk;     
b. mikr;ruit nrayfk; 

c. gzpahsh; kw;Wk; nghJkf;fs; Fiwj; jPh;g;G mikr;fk; 
d. kj;jpa yQ;r xopg;G Mizak;     
e. tpil njhpatpy;iy 
 

80. Which of the following is the guardian of Fundamental rights? 
a. Constitution of India   b. President of India 
c. High Courts in India   d. Supreme Court of India 
e. Answer not known 
gpd;tUtdtw;Ws; mbg;gil chpikfspd; fhtyd; vJ? 
a. ,e;jpa murpayikg;G   b. ,e;jpahtpd; cah; ePjp kd;wq;fs;  
c. ,e;jpahtpd; cah;ePjp kd;wq;fs;  d. ,e;jpa cr;r ePjp kd;wq;fs; 
e. tpil njhpatpy;iy 
 

81. Assertion (A) : The Union Executive can transform the federation into a Unitary State 
Reason     (R) : The Central government is vested with a variety of powers to extend its 
    authority over the states. 
Read choose the correct option given below: 
a. (A) is true; but (R) is false    
b. (A) is false; (R) is true 
c. Both (A) and (R) are true ; and (R) is the correct explanation of (A) 
d. Both (A) and (R) are true; but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): xd;wpa mikr;ruit tpUk;gpdhy; $l;L Ml;rp mikg;ig xw;iwahl;rpaha; 

khw;wptpl KbAk;. 
fhuzk; (R): khepyq;fspd; kPJ nray;gLj;jj; jf;f gy;jpwg;gl;l mjpfhuq;fis xd;wpa 

muR iftrk; ngw;Ws;sJ 
gpd;tUtdtw;iw gbj;Jr; rhpahd tpilia Njh;e;njLf;fTk;: 
a. (A)  rhp Mdhy; (R) jtW     
b. (A) jtW; Mdhy; (R) rhp    
c. (A) kw;Wk; (R) ,uz;LNk rhp; mj;Jld; (R) vd;gJ (A) tpw;fhd rhpahd tpsf;fkhFk; 
d. (A) kw;Wk; (R) ,uz;LNk rhp; Mdhy; (R) vd;gJ (A) tpw;fhd rhpahd tpsf;fkhfhJ 
e. tpil njhpatpy;iy 
 

82. Consider the pairs on parliamentary committees 
i.  Committee on food, consumer  
    Affairs and Public distribution  –  Standing Committee 
ii. Committee on Petitions  - Adhoc Committee 
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iii. House Committee  - Adhoc Committee 
(iv) Committee on Ethics  - Standing Committee 

 Which pair is not correct? 
 a. (ii), (iii) and (iv) are not correct  b. (i), (ii) and (iii) are not correct 
 c. (i) and (iii) are not correct  d. (i)and (ii) are not correct 
 e. Answer not known 

ghuhSkd;w epiyf; FOf;fs; gw;wpa fPo;fz;l ,izfis ftdpf;fTk; 
i. czT> Efu;Nthh; tptfhuk; kw;Wk; nghJ tpepNahf FO - epiyf;FO 
ii. kDf;fs; FO       - jw;fhypf FO 
iii. ed;ndwp FO       - epiyf;FO 
ve;j ,iz jtwhd ,iz vd;W fz;lwp. 
a. ii> iii kw;Wk; iv jtwhd ,izfs;  b. i> ii kw;Wk; iii jtwhd ,izfs; 
c. i kw;Wk; iii jtwhd ,izfs;   d. i kw;Wk; ii jtwhd ,izfs;  
e. tpil njhpatpy;iy 

 
83. Which of the following sessions of Parliament is / are incorrect? 

a. Budget session : February to May 
b. Monsoon session : July to September 
c. Winter session : November to January 
d. Winter session : November to December 
e. Answer not known 
fPo;f;fz;l ehlhSkd;wf; $l;lj; njhlh;fspy; vJ/vit jtwhdit? 
a. tuT-nryTf; $l;lj; njhlh; (gpg;uthp Kjy; Nk tiu)     
b. kiof;fhyf; $l;lj; njhlh; ([_iy Kjy; nrg;lk;gh;)    

c. Fsph;fhyf; $l;Lj; njhlh; (etk;gh; Kjy; [dthp tiu) 
d. Fsph;fhyf; $l;Lj; njhlh; (etk;gh; Kjy; brk;gh; tiu)     
e. tpil njhpatpy;iy 
 

84. Which of the following Amendments made Elementary Education a fundamental right? 
a. 42nd Amendment Act   b. 44th Amendment Act 
c. 86th Amendment Act   d. 74th Amendment Act 
e. Answer not known 
fPo;tUk; vr;rl;lj;jpUj;jk; njhlf;ff; fy;tpia mbg;gil chpikahf;FfpwJ? 
a. 42tJ rl;lj;jpUj;jk;  b. 44tJ rl;lj;jpUj;jk;   
c. 86tJ rl;lj;jpUj;jk;  d. 74tJ rl;lj;jpUj;jk;     
e. tpil njhpatpy;iy 
 

85. Which one of the following is incorrectly paired? 
1. Abolition of Titles    - Article 18 
2. Supremacy to Directive Principles  
    of State policy over Fundamental rights - Article 31 B 
3. Abolition of Untouchability   - Article 17 
4. All are equal before law and equal 
    protection of law     - Article 14 
a. 1 only   b. 2 only   c. 3 only 
d. 4 only   e. Answer not known 
fPo;fhz;gtw;wpy; vJ jtwhd ,iz? 
1. gl;lq;fs; xopg;G         - tpjp 18 
2. mbg;gil chpikfis tpl muR topfhl;b newpKiwfs; Nkyhdit - tpjp 31 B 
3. jPz;lhik xopg;G         - tpjp 17 
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a. 1 kl;Lk;   b. 2 kl;Lk;   c. 3 kl;Lk; 
d. 4 kl;Lk;   e. tpil njhpatpy;iy 
 

86. The 42nd Constitutional Amendment Act added three new words to the Preamble of the 
Indian Constitution.  Which among the following is the incorrect one? 
a. Socialist   b. Secular   c. Democratic 
d. Integrity   e. Answer not known 
42 Mk; murikg;Gj; jpUj;jr; rl;lk;> ,e;jpa murpayikg;Gr; rhrdj;jpd; KfTiuapy; 
%d;W Gjpa nrhw;fisr; Nrh;j;jJ. gpd;tUtdtw;wpy; vJ jtwhdJ? 
a. Nrhryp];l;   b. kjr;rhh;gw;w  c. kf;fshl;rpAila 
d. xUikg;ghL  e. tpil njhpatpy;iy 
 

87. Garibi Hatao is the slogan of ______ five year plan for poverty alleviation programme. 
a. First five year plan   b. Second five year plan 
c. Fifth five year plan   d. Eight five year plan 
e. Answer not known 
fhpgp `lhNth vd;gJ tWik xopg;G epfo;TfSf;fhd _______ Ie;jhz;Lj; jpl;lj;jpd; 
Kof;fk; MFk;. 
a. Kjy; Ie;jhz;Lj; jpl;lk;  b. ,uz;lhk; Ie;jhz;Lj; jpl;lk;  
c. Ie;jhk; Ie;hz;Lj; jpl;lk;  d. vl;lhk; Ie;jhz;Lj; jpl;lk; 
e. tpil njhpatpy;iy 
 

88. Choose the right answer: 
Which one among the following places does not have a Thermal Station? 

 a. Tuticorin   b. Ennore   c. Ranipet 
 d. Mettur   e. Answer not known 

rhpahd tpiliaj; Njh;e;njL 
gpd;tUk; ,lq;fspy; ve;j ,lj;jpy; mdy;kpd; epiyak; ,y;iy? 
a. J}j;Jf;Fb   b. vz;Z}h;   c. uhzpg;Ngl;il 
d. Nkl;^h;   e. tpil njhpatpy;iy 

 
89. Which of the following four major metros are connected under the scheme of Golden 

Quadrilateral? 
a. New Delhi, Hyderabad, Bengaluru and Chennai 
b. New Delhi, Kolkata, Chennai and Bengaluru 
c. New Delhi, Kolkata, Chennai and Mumbai 
d. New Delhi, Nagpur, Bengaluru and Kolkata 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j ehd;F Kf;fpa ngU efuq;fs; jq;f ehw;fuj; jpl;lj;jpd; fPo; 
,izf;fg;gl;Ls;sJ? 
a. GJ nly;yp> i`juhghj;> ngq;f@h; kw;Wk; nrd;di     
b. GJ nly;yp> nfhy;fj;jh> nrd;id kw;Wk; ngq;f@h; 
c. GJ nly;yp> nfhy;fj;jh> nrd;id kw;Wk; Kk;ig 
d. GJ nly;yp> ehf;G+h;> ngq;f@h; kw;Wk; nfhy;fj;jh     
e. tpil njhpatpy;iy 
 

90. _________ is to accelerate the sanitation coverage in rural areas so as to 
comprehensively cover the rural community. 
a. Nirmal Bharat Abhiyan 
b. National Rural Health Mission 
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c. Accelerated Rural Water Supply Programme 
d. Pradhan Mantri Gramadoya Yojana 
e. Answer not known 
_______ vd;gJ fpuhkg;Gw; kf;fis tphpthd; Kiwapy; cs;slf;fpa> fpuhkg;Gw; Rfhjhu 
trjpia tpiuTgLj;Jk; xU jpl;lkhFk;. 
a. eph;ky; ghuj; mgpahd;     
b. Njrpa Cuf Rfhjhuj; jpl;lk;    
c. Rj;jfhpf;fg;gl;l J}a;ikahd FbePh; fpuhkq;fSf;F toq;Fk; jpl;lk;  
d. gpujk; ke;jphp fpuhNkhjah Nah[dh     
e. tpil njhpatpy;iy 
 

91. Janani Suraksha Yojana is a 
a. Maternity protection scheme  b. Free food for poor 
c. Employment opportunity scheme d. Free gas scheme 
e. Answer not known 
[ddp Ruf;~h  Nah[dh vd;gJ 
a. kfg;NgW ghJfhg;Gj; jpl;lk;  b. ViofSf;F ,ytr czT 
c. Ntiy tha;g;Gj; jpl;lk;   d. ,ytr vhpthAj; jpl;lk;    
e. tpil njhpatpy;iy 
 

92. _________ committee proposed GST in India. 
a. Rangarajan Committee   b. Kelkar Task Force Committee 
c. Narshiman Committee   d. Arjun – Sen Gupta Committee 
e. Answer not known 
FO ,e;jpahtpy; GST ia Kd;nkhope;jJ. 
a. uq;fuh[d; FO   b. nfy;fh; gzpf; FO  c. eurpkd; FO 
d. mh;[_d;-nrd; Fg;jh FO  e. tpil njhpatpy;iy 
 

93. Which banks do not come under NABARD? 
a. State Cooperative Banks   b. Regional Rural Banks 
c. Export Promotion Banks  d. District Central Cooperative Banks 
e. Answer not known 
fPo;f;fhz;gdtw;Ws; eghh;L (NABARD)-d; fPo; ,lk; ngwhj tq;fpfs;? 
a. khepy $l;LwT tq;fpfs;  b. Cuf tl;lhu tq;fpfs;    
c. Vw;Wkjp tsu;r;rp tq;fpfs; d. khtl;l ika $l;LwT tq;fpfs;   
e. tpil njhpatpy;iy 
 

94. Choose the ones that are correctly matched: 
1. Narayan    -  Chittaranjan Das 
2. Unhappy India   - Mrs. Annie Besant 
3. Common wheel   - Lala Lajpat Rai 
4. Abhyudaya   - Pt. Madan Mohan Malaviya 
a. 1 and 2 are correct  b. 2 and 3 are correct c. 1 and 4 are correct 
d. 2 and 4 are correct  e. Answer not known 
rhpahf nghUe;jpAs;stw;iwj; Njh;e;njL: 
1. ehuaz;   - rpj;juQ;rd; jh]; 
2. md; N`g;gp ,e;jpah - Mrs. md;dpngrd;l; 
3. fhkd; tPy;   - yhyh y[gjp uha; 
4. mgpAjah   - gz;bl; kjd; Nkhfd; khstpah 
a. 1kw;Wk; 2 rhpahdit  b. 2 kw;Wk; 3 rhpahdit    



 

20 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

c. 1 kw;Wk; 4 rhpahdit  d. 2 kw;Wk; 4 rhpahdit     
e. tpil njhpatpy;iy 
     

95. Chauri Chaura incident took place in the present day state of  
a. Orissa   b. Uttar Pradesh  c. Gujarat 
d. Bihar   e. Answer not known 
rThp rTuh epfo;e;j jw;Nghija ,e;jpa khepyk; vJ? 
a. Xhprh   b. cj;jpug;gpuNjrk;  c. F[uhj; 
d. gPfhh;   e. tpil njhpatpy;iy 
 

96. Name the committee that recommended the aboilition of Zamindari system in 1948 in 
Tamil Nadu? 
a. J. C. Kumarappa Committee  b. Prakasam Committee 

c. Sarkaria Commission   d. V.R. Krishna Iyer Committee 
e. Answer not known 
jkpo;ehl;by; 1948 Mk; mz;L [kpd;jhh; Kiwia xopf;f ghpe;Jiu nra;j FOtpd; 
ngaiuf; ngaiuf; Fwpg;gpLf. 
a. N[.rp. Fkug;gh FO  b. gpufhrk; FO  c. rh;fhupah FO 
d. tp.Mh;. fpU~;z ma;ah; FO e. tpil njhpatpy;iy 
 

97. The Indian Independence league in 1928 was founded by 
a. Subhas Chandra Bose along with Jawaharlal Nehru and Srinivasan Iyengar 
b. Subhas Chandra Bose along with C.R. Ray and Sardar Patel 
c. Subhas Chandra Bose along with Jawaharlal Nehru and V.O. Chidambarana 
d. Subhas Chandra Bose along with Jawaharlal Nehru and Subramania Iyer 
e. Answer not known 
1928-y; ,e;jpa Rje;jpu $l;likg;ig (yPf;) epwtpath; ahh;? 
a. Rgh]; re;jpuNghRld; Nrh;e;J [t`h;yhy; NeU (kw;Wk;) rPdpthrd; Iaq;fhh;  
b. Rgh]; re;jpuNghRld; Nrh;e;J rp.Mh;. Nua; (kw;Wk;) rh;jhh; gl;Nly;    
c. Rgh]; re;jpuNghRld; Nrh;e;J [t`h;yhy; NeU (kw;Wk;) t.c. rpjk;gudhh; 

d. Rgh]; re;jpuNghRld; Nrh;e;J [t`h;yhy; NeU (kw;Wk;) Rg;gukzp Iah;   
e. tpil njhpatpy;iy 
 

98. Who was elected as the first Indian Member to the British House of Commons? 
a. Jawaharlal Nehru   b. Madan Mohan Malawiya 
c. Damodar Savarkar  d. Dadabhai Naoroji 
e. Answer not known 
gpupl;ld; kf;fs; mitapd; cWg;gpduhfj; Njh;e;njLf;fg;gl;l Kjy; ,e;jpah; ahh;? 
a. [t`h;yhy; NeU  b. kjd; Nkhfd; khstpah  c. jhNkhjh; rthh;f;fh; 
d. jhjhgha; nesNuh[p e. tpil njhpatpy;iy 
 

99. Which one of the following is not correctly matched? 
a. “Go back to the Vedas”  - Dayananda Saraswathi 
b. “untouchability is a crime” -  Gandhiji 
c. “Delhi Chalo”   - Bhagath Singh 
d. Long years ago we have  
    made tryst with destiny  - Jawaharlal Nehru 
e. Answer not known  -  
fPo;fz;ltw;Ws; jtwhd $w;W vJ? 
a. Ntj fhyj;jpw;F jpUk;Gq;fs;  - jahde;j ru];tjp     
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b. jPz;lhik xU ghtr; nray;  - fhe;jp[p    
c. nly;yp rNyh    - gfj; rpq; 
d. ePz;l fhyj;jpw;F Kd;Ng ehq;fs; 
  tpjpAldhd xg;ge;jk; nra;Njhk;  - [t`h;yhy; NehU     
e. tpil njhpatpy;iy 
 

100. Which of the following is the correct chronological sequence of the events? 
I. Dandi March    
II. Champaran Satyagraha 
III. Ghadar Movement   
IV. Khilafat Movement 
a. I, II, III, IV    b. I, III, IV, II   c. III, I, IV, II  
d. III, II, IV, I   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s epfo;r;rpfisf; fhy thpirg;gLj;Jf? 
I. jz;b ahj;jpiu 
II. rk;ghud; rj;jpahfpufk; 
III. fjh; ,af;fk; 
IV. fpyhgj; ,af;fk; 
a. I, II, III, IV   b. I, III, IV, II   c. III, I, IV, II  
d. III, II, IV, I   e. tpil njhpatpy;iy 

 
 


